
Multiply by Negative Powers of Ten (A)Find each product.
6.485 × 10⁻² = 5.181 × 10⁻² =
9.1407 × 10⁻³ = 7.187 × 10⁻² =
6.8158 × 10⁻¹ = 7.677 × 10⁻¹ =
5.4 × 10⁻³ = 6.7961 × 10⁻² =
7.927 × 10⁻² = 0.15 × 10⁻³ =
7.61 × 10⁻³ = 7.2 × 10⁻¹ =
3.59 × 10⁻¹ = 2.26 × 10⁻¹ =
1.198 × 10⁻¹ = 4.109 × 10⁻¹ =
6.899 × 10⁻² = 9.2426 × 10⁻¹ =
7.9 × 10⁻¹ = 8.792 × 10⁻² =
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Multiply by Negative Powers of Ten (A) AnswersFind each product.
6.485 × 10⁻² = 0.06485 5.181 × 10⁻² = 0.05181
9.1407 × 10⁻³ = 0.0091407 7.187 × 10⁻² = 0.07187
6.8158 × 10⁻¹ = 0.68158 7.677 × 10⁻¹ = 0.7677
5.4 × 10⁻³ = 0.0054 6.7961 × 10⁻² = 0.067961
7.927 × 10⁻² = 0.07927 0.15 × 10⁻³ = 0.00015
7.61 × 10⁻³ = 0.00761 7.2 × 10⁻¹ = 0.72
3.59 × 10⁻¹ = 0.359 2.26 × 10⁻¹ = 0.226
1.198 × 10⁻¹ = 0.1198 4.109 × 10⁻¹ = 0.4109
6.899 × 10⁻² = 0.06899 9.2426 × 10⁻¹ = 0.92426
7.9 × 10⁻¹ = 0.79 8.792 × 10⁻² = 0.08792
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Multiply by Negative Powers of Ten (B)Find each product.
3.3143 × 10⁻³ = 6.9951 × 10⁻³ =
6.9699 × 10⁻¹ = 1.329 × 10⁻¹ =
7.869 × 10⁻² = 3.2711 × 10⁻³ =
9.2457 × 10⁻² = 0.67 × 10⁻³ =
2.2568 × 10⁻³ = 8.7611 × 10⁻³ =
2.3013 × 10⁻¹ = 7.7795 × 10⁻² =
0.96 × 10⁻³ = 6.2282 × 10⁻³ =
7.5624 × 10⁻² = 3.749 × 10⁻² =
5.37 × 10⁻¹ = 7.6 × 10⁻³ =
8.4 × 10⁻¹ = 4.93 × 10⁻¹ =
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Multiply by Negative Powers of Ten (B) AnswersFind each product.
3.3143 × 10⁻³ = 0.0033143 6.9951 × 10⁻³ = 0.0069951
6.9699 × 10⁻¹ = 0.69699 1.329 × 10⁻¹ = 0.1329
7.869 × 10⁻² = 0.07869 3.2711 × 10⁻³ = 0.0032711
9.2457 × 10⁻² = 0.092457 0.67 × 10⁻³ = 0.00067
2.2568 × 10⁻³ = 0.0022568 8.7611 × 10⁻³ = 0.0087611
2.3013 × 10⁻¹ = 0.23013 7.7795 × 10⁻² = 0.077795
0.96 × 10⁻³ = 0.00096 6.2282 × 10⁻³ = 0.0062282
7.5624 × 10⁻² = 0.075624 3.749 × 10⁻² = 0.03749
5.37 × 10⁻¹ = 0.537 7.6 × 10⁻³ = 0.0076
8.4 × 10⁻¹ = 0.84 4.93 × 10⁻¹ = 0.493
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Multiply by Negative Powers of Ten (C)Find each product.
2.951 × 10⁻³ = 6.256 × 10⁻³ =
9.42 × 10⁻³ = 1.084 × 10⁻² =
3.2856 × 10⁻¹ = 7.83 × 10⁻³ =
3.261 × 10⁻² = 9.44 × 10⁻² =
1.278 × 10⁻² = 3.65 × 10⁻² =
1.045 × 10⁻¹ = 1.8895 × 10⁻³ =
7.2 × 10⁻² = 4.73 × 10⁻² =
3.34 × 10⁻¹ = 9.0773 × 10⁻³ =
9 × 10⁻² = 8.8804 × 10⁻¹ =
8.318 × 10⁻² = 3.533 × 10⁻³ =
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Multiply by Negative Powers of Ten (C) AnswersFind each product.
2.951 × 10⁻³ = 0.002951 6.256 × 10⁻³ = 0.006256
9.42 × 10⁻³ = 0.00942 1.084 × 10⁻² = 0.01084
3.2856 × 10⁻¹ = 0.32856 7.83 × 10⁻³ = 0.00783
3.261 × 10⁻² = 0.03261 9.44 × 10⁻² = 0.0944
1.278 × 10⁻² = 0.01278 3.65 × 10⁻² = 0.0365
1.045 × 10⁻¹ = 0.1045 1.8895 × 10⁻³ = 0.0018895
7.2 × 10⁻² = 0.072 4.73 × 10⁻² = 0.0473
3.34 × 10⁻¹ = 0.334 9.0773 × 10⁻³ = 0.0090773
9 × 10⁻² = 0.09 8.8804 × 10⁻¹ = 0.88804
8.318 × 10⁻² = 0.08318 3.533 × 10⁻³ = 0.003533
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Multiply by Negative Powers of Ten (D)Find each product.
5.17 × 10⁻² = 8.87 × 10⁻¹ =
1.878 × 10⁻² = 5.7 × 10⁻² =
9.96 × 10⁻² = 8.5426 × 10⁻³ =
3.775 × 10⁻¹ = 9.54 × 10⁻³ =
1.64 × 10⁻³ = 1.9 × 10⁻² =
7.741 × 10⁻³ = 2.7 × 10⁻³ =
0.4 × 10⁻² = 0.4 × 10⁻¹ =
6.61 × 10⁻¹ = 4.596 × 10⁻² =
0.9 × 10⁻² = 6.77 × 10⁻² =
2.4504 × 10⁻² = 5.053 × 10⁻³ =
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Multiply by Negative Powers of Ten (D) AnswersFind each product.
5.17 × 10⁻² = 0.0517 8.87 × 10⁻¹ = 0.887
1.878 × 10⁻² = 0.01878 5.7 × 10⁻² = 0.057
9.96 × 10⁻² = 0.0996 8.5426 × 10⁻³ = 0.0085426
3.775 × 10⁻¹ = 0.3775 9.54 × 10⁻³ = 0.00954
1.64 × 10⁻³ = 0.00164 1.9 × 10⁻² = 0.019
7.741 × 10⁻³ = 0.007741 2.7 × 10⁻³ = 0.0027
0.4 × 10⁻² = 0.004 0.4 × 10⁻¹ = 0.04
6.61 × 10⁻¹ = 0.661 4.596 × 10⁻² = 0.04596
0.9 × 10⁻² = 0.009 6.77 × 10⁻² = 0.0677
2.4504 × 10⁻² = 0.024504 5.053 × 10⁻³ = 0.005053
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Multiply by Negative Powers of Ten (E)Find each product.
9.635 × 10⁻² = 7.4 × 10⁻² =
4.675 × 10⁻³ = 7.536 × 10⁻³ =
2.82 × 10⁻² = 1.38 × 10⁻³ =
2.184 × 10⁻³ = 4.2 × 10⁻² =
1.1499 × 10⁻² = 1.6 × 10⁻² =
4.4 × 10⁻² = 8.35 × 10⁻¹ =
7.96 × 10⁻² = 8.9 × 10⁻² =
2.77 × 10⁻¹ = 2.916 × 10⁻² =
0.3 × 10⁻² = 0.2 × 10⁻² =
9.17 × 10⁻¹ = 1.2035 × 10⁻² =
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Multiply by Negative Powers of Ten (E) AnswersFind each product.
9.635 × 10⁻² = 0.09635 7.4 × 10⁻² = 0.074
4.675 × 10⁻³ = 0.004675 7.536 × 10⁻³ = 0.007536
2.82 × 10⁻² = 0.0282 1.38 × 10⁻³ = 0.00138
2.184 × 10⁻³ = 0.002184 4.2 × 10⁻² = 0.042
1.1499 × 10⁻² = 0.011499 1.6 × 10⁻² = 0.016
4.4 × 10⁻² = 0.044 8.35 × 10⁻¹ = 0.835
7.96 × 10⁻² = 0.0796 8.9 × 10⁻² = 0.089
2.77 × 10⁻¹ = 0.277 2.916 × 10⁻² = 0.02916
0.3 × 10⁻² = 0.003 0.2 × 10⁻² = 0.002
9.17 × 10⁻¹ = 0.917 1.2035 × 10⁻² = 0.012035
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Multiply by Negative Powers of Ten (F)Find each product.
2.512 × 10⁻³ = 8.7 × 10⁻³ =
4.717 × 10⁻¹ = 4.728 × 10⁻³ =
6.4 × 10⁻¹ = 2.756 × 10⁻² =
0.581 × 10⁻³ = 2.3 × 10⁻¹ =
1.336 × 10⁻² = 8.24 × 10⁻² =
9.155 × 10⁻³ = 6.58 × 10⁻¹ =
7.8611 × 10⁻¹ = 1.6 × 10⁻¹ =
8.183 × 10⁻³ = 1.37 × 10⁻³ =
6.947 × 10⁻³ = 7.0994 × 10⁻² =
5.8 × 10⁻³ = 1.54 × 10⁻¹ =
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Multiply by Negative Powers of Ten (F) AnswersFind each product.
2.512 × 10⁻³ = 0.002512 8.7 × 10⁻³ = 0.0087
4.717 × 10⁻¹ = 0.4717 4.728 × 10⁻³ = 0.004728
6.4 × 10⁻¹ = 0.64 2.756 × 10⁻² = 0.02756
0.581 × 10⁻³ = 0.000581 2.3 × 10⁻¹ = 0.23
1.336 × 10⁻² = 0.01336 8.24 × 10⁻² = 0.0824
9.155 × 10⁻³ = 0.009155 6.58 × 10⁻¹ = 0.658
7.8611 × 10⁻¹ = 0.78611 1.6 × 10⁻¹ = 0.16
8.183 × 10⁻³ = 0.008183 1.37 × 10⁻³ = 0.00137
6.947 × 10⁻³ = 0.006947 7.0994 × 10⁻² = 0.070994
5.8 × 10⁻³ = 0.0058 1.54 × 10⁻¹ = 0.154
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Multiply by Negative Powers of Ten (G)Find each product.
1.1067 × 10⁻³ = 2.608 × 10⁻² =
8.1065 × 10⁻² = 0.777 × 10⁻² =
8.5 × 10⁻³ = 5.0884 × 10⁻² =
8.385 × 10⁻¹ = 2.7 × 10⁻¹ =
0.14 × 10⁻¹ = 2.5 × 10⁻¹ =
6.138 × 10⁻³ = 3.37 × 10⁻² =
5.86 × 10⁻² = 8.146 × 10⁻² =
1.753 × 10⁻¹ = 4.6585 × 10⁻¹ =
8.616 × 10⁻³ = 2.43 × 10⁻² =
4.722 × 10⁻² = 9.1 × 10⁻³ =
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Multiply by Negative Powers of Ten (G) AnswersFind each product.
1.1067 × 10⁻³ = 0.0011067 2.608 × 10⁻² = 0.02608
8.1065 × 10⁻² = 0.081065 0.777 × 10⁻² = 0.00777
8.5 × 10⁻³ = 0.0085 5.0884 × 10⁻² = 0.050884
8.385 × 10⁻¹ = 0.8385 2.7 × 10⁻¹ = 0.27
0.14 × 10⁻¹ = 0.014 2.5 × 10⁻¹ = 0.25
6.138 × 10⁻³ = 0.006138 3.37 × 10⁻² = 0.0337
5.86 × 10⁻² = 0.0586 8.146 × 10⁻² = 0.08146
1.753 × 10⁻¹ = 0.1753 4.6585 × 10⁻¹ = 0.46585
8.616 × 10⁻³ = 0.008616 2.43 × 10⁻² = 0.0243
4.722 × 10⁻² = 0.04722 9.1 × 10⁻³ = 0.0091
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Multiply by Negative Powers of Ten (H)Find each product.
3.48 × 10⁻² = 3.37 × 10⁻¹ =
7.766 × 10⁻¹ = 8.6892 × 10⁻³ =
4.845 × 10⁻³ = 6.484 × 10⁻¹ =
4.959 × 10⁻¹ = 7 × 10⁻¹ =
5.5038 × 10⁻³ = 0.0115 × 10⁻² =
4.852 × 10⁻² = 4.53 × 10⁻¹ =
5.795 × 10⁻¹ = 0.008 × 10⁻³ =
3.6 × 10⁻² = 2.44 × 10⁻² =
3.725 × 10⁻³ = 0.4 × 10⁻¹ =
0.0967 × 10⁻¹ = 9.0254 × 10⁻¹ =
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Multiply by Negative Powers of Ten (H) AnswersFind each product.
3.48 × 10⁻² = 0.0348 3.37 × 10⁻¹ = 0.337
7.766 × 10⁻¹ = 0.7766 8.6892 × 10⁻³ = 0.0086892
4.845 × 10⁻³ = 0.004845 6.484 × 10⁻¹ = 0.6484
4.959 × 10⁻¹ = 0.4959 7 × 10⁻¹ = 0.7
5.5038 × 10⁻³ = 0.0055038 0.0115 × 10⁻² = 0.000115
4.852 × 10⁻² = 0.04852 4.53 × 10⁻¹ = 0.453
5.795 × 10⁻¹ = 0.5795 0.008 × 10⁻³ = 0.000008
3.6 × 10⁻² = 0.036 2.44 × 10⁻² = 0.0244
3.725 × 10⁻³ = 0.003725 0.4 × 10⁻¹ = 0.04
0.0967 × 10⁻¹ = 0.00967 9.0254 × 10⁻¹ = 0.90254
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Multiply by Negative Powers of Ten (I)Find each product.
7.088 × 10⁻³ = 3.49 × 10⁻¹ =
7.069 × 10⁻² = 0.699 × 10⁻² =
6.5977 × 10⁻¹ = 1.3 × 10⁻³ =
0.2 × 10⁻¹ = 8.1322 × 10⁻¹ =
3 × 10⁻³ = 8.5 × 10⁻² =
0.424 × 10⁻³ = 8.3 × 10⁻¹ =
2.2 × 10⁻² = 1.305 × 10⁻¹ =
7.675 × 10⁻² = 3.99 × 10⁻¹ =
4.48 × 10⁻¹ = 9 × 10⁻² =
5.3932 × 10⁻² = 1.181 × 10⁻¹ =
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Multiply by Negative Powers of Ten (I) AnswersFind each product.
7.088 × 10⁻³ = 0.007088 3.49 × 10⁻¹ = 0.349
7.069 × 10⁻² = 0.07069 0.699 × 10⁻² = 0.00699
6.5977 × 10⁻¹ = 0.65977 1.3 × 10⁻³ = 0.0013
0.2 × 10⁻¹ = 0.02 8.1322 × 10⁻¹ = 0.81322
3 × 10⁻³ = 0.003 8.5 × 10⁻² = 0.085
0.424 × 10⁻³ = 0.000424 8.3 × 10⁻¹ = 0.83
2.2 × 10⁻² = 0.022 1.305 × 10⁻¹ = 0.1305
7.675 × 10⁻² = 0.07675 3.99 × 10⁻¹ = 0.399
4.48 × 10⁻¹ = 0.448 9 × 10⁻² = 0.09
5.3932 × 10⁻² = 0.053932 1.181 × 10⁻¹ = 0.1181
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Multiply by Negative Powers of Ten (J)Find each product.
6.383 × 10⁻¹ = 0.26 × 10⁻¹ =
1.4 × 10⁻³ = 8.89 × 10⁻³ =
0.1 × 10⁻³ = 4.9 × 10⁻² =
0.35 × 10⁻³ = 0.98 × 10⁻¹ =
0.48 × 10⁻¹ = 3.2437 × 10⁻³ =
1.3 × 10⁻² = 7.2 × 10⁻¹ =
6.1 × 10⁻¹ = 3.287 × 10⁻³ =
3.354 × 10⁻¹ = 5.8 × 10⁻³ =
4.59 × 10⁻³ = 6.4 × 10⁻³ =
3.564 × 10⁻¹ = 0.79 × 10⁻¹ =
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Multiply by Negative Powers of Ten (J) AnswersFind each product.
6.383 × 10⁻¹ = 0.6383 0.26 × 10⁻¹ = 0.026
1.4 × 10⁻³ = 0.0014 8.89 × 10⁻³ = 0.00889
0.1 × 10⁻³ = 0.0001 4.9 × 10⁻² = 0.049
0.35 × 10⁻³ = 0.00035 0.98 × 10⁻¹ = 0.098
0.48 × 10⁻¹ = 0.048 3.2437 × 10⁻³ = 0.0032437
1.3 × 10⁻² = 0.013 7.2 × 10⁻¹ = 0.72
6.1 × 10⁻¹ = 0.61 3.287 × 10⁻³ = 0.003287
3.354 × 10⁻¹ = 0.3354 5.8 × 10⁻³ = 0.0058
4.59 × 10⁻³ = 0.00459 6.4 × 10⁻³ = 0.0064
3.564 × 10⁻¹ = 0.3564 0.79 × 10⁻¹ = 0.079
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